il = 0l &F A Al A
20259 =& 3 5| eS| A=t
M A=
R =)oHE £8
EH9lr FIIBIAIE 22 (CHl: X 21)
2A - ZH - HA(S) - MRAIY - BES Off koK J 3 A HwsZ
2= 8,929,274 8,017,793 911,481
= 4,920,135 4,920,135 0
= 380,320 380,320 0
2l 67,500 67,500 0
< 646,214 624,964 21,250
Al 2,915,105 2,024,874 890,231
Fotd £2 8,646,868 7,775,886 870,982
= 4,903, 135 4,903,135 0
= 380,320 380,320 0
2l 67,500 67,500 0
< 646,214 624,964 21,250
Al 2,649,699 1,799,967 849,732
F=HIIBHAIE 22 7,419,228 6,548,246 870,982
= 4,795,895 4,795,895 0
2l 67,500 67,500 0
< 629,054 607,804 21,250
Al 1,926,779 1,077,047 849,732
EHE s& 2B50d 800,000 0 800,000
401 AlEHIL S OHYI 800,000 0 800,000
01 Al&H] 800,000 0 800,000
SHE s&E2ESNN 28sEX7
TEAY 800,000 0 800,000
ZOHDIOHILE 22AFRA EIIF 204 5,432 5,700 2268
405 AHoHH S| 5,432 5,700 2268
01 AL ESFISHI 5,432 5,700 2268
ZOHDIOHIE EIIF FOH(EXNIS) 1,663 1,700 AZ7
ZOHDIOHIE FIIF F0H(IH?) 3,769 4,000 A231
S IR S ETHAIE KIRAY 50,000 0 50,000
402 QIZEAE01H 50,000 0 50,000
01 BIZ A= ARG B (KFHITHA) 50,000 0 50,000
IS FMIIXE S ETHAIE KIRAFY 50,000 0 50,000
7.16.~20. &< FEIIOH HHXIRS 21,250 0 21,250
< 21,250 0 21,250
302 Ol Mol 24l = 21,250 0 21,250
< 21,250 0 21,250
02 2RI S PES2d= 21,250 0 21,250
7.16.~20. S ==l M=
21,250,000 21,250 0 21,250
< 21,250 0 21,250
HY2AZH(A=D) 91,79 97,000 Nb,205
(=34 91,79 97,000 15,205
JlI238H| 91,79 97,000 15,205
201 Le+23H| 50,200 53,000 2,800
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